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PA S T  S I M P L E



W A S N ’ T / W E R E N ’ T

[ Exercise 1 ]

Complete the sentences with wasn’t/‌weren’t.

Example:
He   at work. (not / to be)

Answer:
He wasn’t at work.

1. My father   a worker. (not / to be)

2. You   hungry. (not / to be)

3. They   farmers. (not / to be)

4. I   ill. (not / to be)

5. We   tired. (not / to be)

6. The computer   old. (not / to be)

7. He   at his friend’s house last night. (not / to be)

8. My sister   ready for the test. (not / to be)

9. They   in Portugal last year. (not / to be)

10. I   at school last Monday. (not / to be)
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A N S W E R S

1. was not.

2. were not.

3. were not.

4. was not.

5. were not.

6. was not.

7. was not.

8. was not.

9. were not.

10. was not.
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